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SNEUSHE 98 SBHHWA 465,002 555,470 A90,468
EAZ OlI2 MEE R 257,334 354,302 A 96,968
101 14 Hl 115,924 197,862 A 81,938
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el SAEASA {8 ZHA (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
04 JIZtHZ22 s+ 115,924 197,862 A 81,938
OEAM2 =% T AHFE2 oAbl 19,317
—Jlzs 8,590 +8Al 2t+2H 92 «12& 14,844
- &5 8,590% «3. 2A| 2 x2H x4 U« 12F 2,639
— =03z 17,482,370& *4..5% 787
— AL EE 17,482,370 +3.335% 584
—1NE828 4,700,000 *1% 47
—&HEE 17,482,370 «1.5% 263
— &I 17,482,370 %0.873% 163
O=Ma B 23 dH| /| 89,407
— QI HI (8AIZ})
8,590 «BAl 2t+x3H 21U« 12& 51,953
— QI A HI(5AI2H)
8,590 *5Al 2t x1H <212 123 10,824
~FELE(8M)
8,590 *8Al 2t+x3H 42«12 9,896
— EE2Y(5M2)
8,590 *5Al 2tx1H 42 <12 2,062
—NERLY
8,590 «BAl 2t x 1H x5 » 1200 & = 1.5} 6,185
—=30A= 80,917,800& «4.5% 3,642
—HLEE 80,917,800& *3.335% 2,699
—1EEE 80,917,800& «1.5% 1,214
—&THEE 80,917,800& *0.873% 707
— &Y 22,500,000 *1% 225
OJIZHZ 22X &&= 1,800,000& »4& 7,200
201 L Er2 A | 141,410 156,440 A 15,030
01 At 22l bl 105,410 118,440 A 13,030
Os&I| EIIEA =5 100,000 =64 2 600
ONAMNE EHIIBA =2 110,000 =10 2 110
OXRAIE ZIIZA =2  300,000& =64 2t 1,800
oIt ZLIUE =2
150,000& 60 2+ 123 10,800
O&F=J1,3J8EJ HUudaegz
330,000 *70H 2t 123 27,720
OZFEX A =2 350,000& =44 2 1,400
OEN2 &AL S 200,000& =74 2t +23] 2,800
OXNZ2EHAIAE 22| 824
20,0003 +701 2t 128 1,680
ORI AHZBHIAAE 9 1,500,000 =74 2t 10,500
O M2 OF2HIF2tAIZE RO1ZH &9
2,000,000& «20 A+ 12& 48,000
02 2324l 36,000 38,000 A 2,000
Obidegr &8 2det KX 24 150,000 =64 2 900
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el SAEASH =L = ) P (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OEN® ZA0 (A, 24
200,000 =504 2 1,000
Ot MEN & IS 22
50,000 x6IH 2t *23| 600
Ogaal, 24 HoZ ¥ AUEA
200,000 =6H 2 1,200
OHYMHAN 435 & ZEM 7L
100,000& =6H 2 600
oY= RANE=> 150,000& *6H 2t x 13| 900
OEAMZ AIEEHIRXIYI
1,250,000& *8IH 2+ 13 10,000
OEAMZ 28 HAH
1,000,000& * 10 2+ 13 1,000
OEAM2 W X 201 & =4
800, 000& 61 2t *13] 4,800
OsdIl RXA2e Y 2,500,000& 6K 2 15,000
FESFAAEY S22 207,668 201,168 6,500
207 A ROy 142,668 130,668 12,000
02 & AR I 142,668 130,668 12,000
OANEEZAMNZ FESALAEY S8 FANES 100,668
—SEEAZ SHOIX sX2el
190,000,000& *10% 19,000
—COXNE4a s/W sX 22l 200,000,000 *10% 20,000
—NEEAHZ MO (A2 2, 2o s o
EIDICIOf, Ol ¥ 2t2el) 100,000, 000& *7% 7,000
—SAFEANAY X2
140,000, 000& *10% 14,000
—SA2 Y H2EMZ T H2ACALE R
2= 150,000, 000& *10% 15,000
— Oz 2 Z208 0l ERALE 7
100,000,000 *10% 10,000
— 22N LE B2
21,000,000& *10% 2,100
—SEEAAMHA BRI2E]
25,680,000& *10% 2,568
—CSNTEUNLAY MHE SHAZZ 2 (S/W)
- 500,000 *4CH 2,000
—SHO0XN &AZF2H wA22
6,000,000% =124 6,000
— QIZ2FOLOI & AMBIA AFZ 3,000,000 14! 3,000
OEAZ 2232H= 28 RAES 42,000
—ZH= RAE* 18,000, 000& * 14! 18,000
—SA2 ENHE JE FY
24,0003 =1,000H 24,000
405 THebH S| 65,000 70,500 25,500
01 AL =2 S FH S| 65,000 70,500 A 5,500
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Sl SNEASHE FE BANM (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OWAAAH 2 45,000
— WA NH 10,000, 000& 14! 10,000
—AE2X 20,000,000& » 14 20,000
— WY AZEAN 15,000, 000& * 14 15,000
OKLASE F22UH 7Y 1,000,000& »20CH 20,000
HY2HIH (22 ) 305,968 315,885 N9,917
el 2 gl 206,860 211,797 N4,937
ol 2AH| 206,860 211,797 A4,937
101 14 Hl 206,860 211,797 A4,937
01 2= 206,860 211,797 A4,937
OAlZt2l 229 10,509& 29 «30Al 2tx 12 109,714
Osgz2es¥ 84,4743 «10H 1152 97,146
Jl23&dl 99,108 104,088 A 4,980
JlE2zl 99,108 104,088 A 4,980
201 Let24E] 21,288 21,288 0
01 At 22l 21,288 21,288 0
OJIE AEs83HI 100,000& *15H 1,500
Oun2d E2s+8tl 300,000 =62 1,800
OB =AIl 7 XHI 300,000& «1CH *43] 1,200
OzetZgyd EH 7 750,000 *63| 4,500
OJI2gfF=48 Sl 8,000& 16H «8L 122 12,288
202 04l 72,000 76,800 A 4,800
01 = LH Yl 72,000 76,800 A 4,800
OJl2gl==8 2SO0
20,0003 *30E x10 «128 72,000
203 YR =] 5,820 6,000 A 180
04 EA2IYRFLH| 5,820 6,000 A 180
ORA2Y 223l 485,000& 123 5,820




